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Identify and use basic postulates about points, lines, and planes

(16-23)

554

Aoty Dibgianally Olasiienally DA J g Sl Siladawall s

(16-23)

Postulates Points, Lines, and Planes

Words

Example

11

Tnrough any two points, there is
exactly one line,

Line m is the only line through
points Pand A.

11.2 Through any three noncollinear
points, there is exactly one

plane,

1.2 Aline contains at least two
points.

11.4 A plane contains at least three
noncollinear points.

1.5 Iftwo points lie in a plane, then
the entire line containing those
points lies in that plane.

Plane K is the only plane
through noncellinear points
A B andC,

Line 1 contains points P, @,

R
HE_,.-E—F"‘"?;— and R.
[F] % Plane K contains noncollinear
L "re points L, 8, C, and E.
s E =

Points A and B fie in plane K,
and line i contains points A
and £, soline m is in plane K.

KeyConcept Intersections of Lines and Planes

Example

Words
11.6 If two lines intersect, then their = P 3 Lines s and ¢ intersect at
intersection is exactly ane ,,>< point P,
o -~

paint,

.7 If two planes intersect, then
their intersection is a line.

Planes F and G intersect in
line .

CAKES Explain how the picture fllustrates that
each statement is true. Then state the postulate
that can be used to show each statement is true.

16. Lines » and £ Intersect at point K.
7. Planes P and Q Intersect In line m,
18. Points D, K, and H determine a plane.

19. Point D is also on the line » through
polnts Cand K.

20. Points D and H are collinear.
@ Potres £, £, and G are coplanar.
22. FF ltes in plane Q.

23. Lines h and g Intersect at point J.
16 ) 11.6 postulate
17) 11.7 postulate
18) 11.2 postulate

19 ) 11.3 postulate

20) 11.1 postulate
21) 11.2 postulate
22) 11.5 postulate
23) 11.6 postulate

Math 9G T3 Review
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Use algebra to write two -column proofs Example- 1
2 558

sas 8 (bl LS el alikil 1- Jls

Pt =44 =70 e =1 W o rech s glas JS) 15,5 caSly x = =18 of3 =5 + 4) = 70 yl5 13] &l el

Setd=N g oot st o |

At Dabdehouy

The following properiies are true for any real numbers a, b, and ¢.

Addition Property of Equality fa=bthena+c=b+c.
r=1=70 et Ff’lp?ﬂﬂf d qulﬁ"f{ Subtracton Property of Equality fo=b theng-c=h~c,
i , Multplcation Property of Equallty fa=bthengsc=hec.
-4 0=+ 20 don Pyl el :
Division Property of Equalty ffo=bandcf 0, then ﬂ;=-c.
- = Kitks f Bty
x=0 oot of i b oty il =
. - . T
- - 5 Dl FWP”W i EQUH‘IW Symmelric Property of Equality | fa=bthenb=0.
4, Tnsive Propery of ity fo=badh=c bero=c
1==l0 ot Py of y -
P ‘Y SubstitonPropety e qully Ifa —.br then o majr_be feplaced oy bin any
equation or expression,
Distributive Property ab+d=ab+ac

Math 9G T3 Review M. G and M.S KBWS 520 Good Luck
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If ZFG] = £]JGK and £]GK = ZKGH, then x = 6.
Write a two-column proof to verify this conjecture.

Give: AFG]= L]GK, £JGK = £ZKGH,
mLFG] = 6x + 7, m£ZKGH = 8x — 5

Prove: x=6

s gla g lS 3 e
x=6 s LIGK= LKGH y LFGJ = LJGK 45 13|
o) 18 o Gasil) (3ges a bla S|

LFGJ = £JGK, £LJGK = LKGH :cildasyl)
MLFGJ = 6x + 7, mLKGH = 8x — 5

Proof x=0 4l gl
Statements Reasons N L ola !
1. mLFGH= 6x +7 mZKGH =8x—5 1. Given =l bne 01
LFG] = Z]GK; £]GK = £ZKGH o

2. mdFG)=me JGK: MR miKGH 2. Definition of congruent angles LS I Lhasdl S a8

3. mLFG] = mZKGH 3. Transitive Property of Equality el

4. 6x+7=8x—5 4. Substitution Property of Equality winegail) Fapalbs

B. 6x+7+5=8x—5+5 5. Addition Property of Equality gt Ak 2D

6. 6x+ 12 = 8x 6. Substitution ll“roperty of Equality eI Sgalis .

7. 6x+12— bx = 8x — bx 7. Subtraction Property of Equality Epdadt Sl ol

8. 12=12x 8. Substitution Property of Equality wisnienzl) Aodalss B

9. % = % 9. Division Property of Equality Apcoad) G b R

10. 6 =x 10. Substitution Property of Equality o=l disls J10

MN. x=6 1. Symmetric Property of Equality e T

4

Math 9G T3 Review M. G and M.S KBWS 520 Good Luck
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Write proofs involving suppl y and compl y angles

Example- 1-2
573-574

JAaliis Uiy dlaie Lla) pasaid gl &8

1-2- Juo

| Find mZ1 if m£L2 =56 and mLJKIL = 145.
.MLJIKL = 145 3 mL2 = 56 S 13) ML1 oo

J K
2 /1 |
mll+mi2=mZJKL  Angle Additon Postulate
mL1 +56 = 145 mZ2 =56 mLIKL = 145
mZl +56=56="145="56 Subtraction Property of Equality
mLl =89 Subsitution

SURVEYING Using a transit, a surveyor sights the top of a hill and records an angle
measure of about 73°. What is the measure of the angle the top of the hill makes
with the horizon? Justify each step.

cilSy Al aedy o i gqia (s dglyll bl By 7Lyl f..l.'iu.‘m' g“l"ﬂ’ Pt
gk JS )p 1AM gpaly ) ded G gl il Lo 73° s

|
\

L

k

Plan Since £1, and £2 form a right angle, you can use the Complement
Theorem.

Solve  mZ2+ml1=90 Complemant Thearem
73+ms1=190 mi1=T13
73+mf1-73=90-73  Subtraction Property of Equality
m{l1=17 Substitution

The top of the hill makes a 17 angle with the horizon.

Math 9G T3 Review

M. G and M.S

KBWS 520 Good Luck
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Write proofs involving congruent and right angles

Example- 3-4

576-577

Al Uiy disllaia bls) sl (ubly &S

3-4 Jts

| Example3

Prove that vertical angles 2 and 4 in the photo at the left are congruent

Given: £2 and Z4 are vertical angles.

Prove: /2= /4

Proof:

Statements Reasons
1. Z2and £4 are vertical angles. 1. Given

2. /2and Z4 are nonadjacent angles

formed by intersecting lines.

3. /2and £3 from a linear pair.

2. Definition of vertical angles

3. Definition of a linear pait

Given: DB bisects ZADC.

Prove: /2= .3

Proof:
Statements Reasons
1. DB bisects ZADC. 1, Given

2 L=

3. /1 and £3 are vertical angles.

2. Definition of angle bisector

3. Definition of vertical angles

£3 and Z4 form alinear pair, | 4 /3= /1 8, Vert. 4 are =,
4. £2and £3are supplementary. 4. Supplement Theorem I 5 3= p 5, Transitive Property of Congruenc
£3 and Z4 are supplementary. I
| 6. /2273 6. Symmetric Property of Congruen|
5. L1= /4 5. & suppl. to same £ or = & are =, S
I
v
6
Math 9G T3 Review M.Gand M.S  KBWS 520 Good Luck
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Identfy the eltionship between bwo ines ortwo planes Bample-1
595

Name angle pairs formed by paralel nes and transversals
[5-13) 59149

abiadly Ol g RSl i v i

P [FSATINS b

@ B L] Identity Parallel and Skew Relationships
Identify each of the following using the wedge of cheese below.
abal o) dadad alasiiuly o Los S 2ua
a. all segments parallel to JP
KQ and LR
b. a segment skew to KL
JP, PQ, or PR
C. a plane parallel to plane PQR

Plane JKL is the only plane parallel to plane POR.

Classify the relationship between each pair of angles
as alternate interior, alternate exterior, corresponding,

or consecutive interior angles.

Dol audsts g aliels Lig ! (o ga) JS o ANl i
iedliia &uds1s blgj o) 6 poLiie by ol Aalie duw b bty ol

6. /2 and £4 Corresponding
- -
9\6 7/8
7. Z3 and £Z6  Alternate interior
8. Z6and Z7 Consecutive

Identify the transversal connecting each pair of angles. Then classify
the relationship between each pair of angles.

QBMadl aio pd Llejl (3o Ta) US G Jeoled! aloladl das
blg i (e Te5 JS O

10.
12.

Line n corresponding

9. /2 and Z£4
M. Z4 and 27

Line m, consecutive

é5 a_['[d Zﬁ Line p, alternate exterior

ZZ a_['[d Z? Line p, alternate interior

Math 9G T3 Review M. G and M.S

KBWS 520 Good Luck
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Use theorems to determine the relationships between specific pairs of angles
(1-9) 605

Lla3lt e Aigma 2193l g SN i) Slyladl aliski

In the figure, m£2 = 85. Find the measure of each angle. gy S bd s L2 = 85 (JSLII B
Ao asiwl (b p5) s pad of (ololue) dgluse (ol S5

Tell which postulate(s) or theorem(s) you used.

1. £Z4 2. Z6 3. Z7 M
85 corresponding angles 85alternate interior angles 95 Angle2 and 7 supplementary angles 112 1E
In the figure, m26 = 110. Find the measure of each angl
Tell which postulate(s) or theorem(s) you used.

4. £4 - Mg 53 6. 1

110:alternate interior 70:consecutive interior 70: Vertical angles
angles angles
----------------------------- *

Find the value of the variable(s) in each figure. Explain your reasoniny,
8. 9.

(x —5)°
103°

X=115 supplementaryangles
X= 108 alternate exterior angles X=55 alternate interior angles

Y=115 alternate interior angles

Math 9G T3 Review M. G and M.S KBWS 520 Good Luck
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Classify the slopes of lines-

Example-1

Olagdiall Jgun cinisad

1- Jte

610

Find the slope of each line.

C. L ¥y d. Ly ‘
o '-Q
X 2 o X ) 0 X
/ v S B
r R
14 - ' TITTE I W i
Substitute (=1, ~2)for vy, ;) and 4 Substitute (-2, 3) for (x;, ;) andy Substitute (=4, =3)for ) and ¢ ?; bSt:ii;L;te A
(3, 3)for fry, ). I (1, =3) for vy ). ! (3, =3)for fr, ) I i’r”(x 2 Y
=1 I - I =l =2 Slope Formula
= 13 - 1]] Slope Formula : m= {; 4 lf]] Slope Formula : L Xy ‘»T;: Jope Formul : "2. B: 0[
g : : -]- (_3) : = —_24:21 Substitution
“3-H Substiuton I = = Substitution B = , Substitution [ 2
=1) I 1-(-2) ] 3=1-4) 1 == Simplify
] [ ] 0 i
= : Simplfy. I = -2 Simplif ! = 901'0 Simplify -
¢ : N mpHy : 7 Al : This slope is undefined.
| | |
\/ \ 4 \/
9
Math 9G T3 Review M. G and M.S KBWS 520 Good Luck
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Write an equation of a line given information about the graph.
10 (13-24) 624

Sl el e Slaglas e ely eadiesd alalas 458

Write an equation in slope-intercept form of the line having the given slope and
y-intercept or points. Then graph the line. suiaiall o 08 .y sgmnall o plaially aned Juel! b paianel) ety ol iy Walas S0

13. m: —5, y-intercept: —2 14. m: —7 b: —4 15. m: 9, b: 2 ; }
13)y = —5x — 2 14)y = =7x — 4 15)y =9x +2 y=mx+h y=3+8
3 N '}=‘ =.i}
16. mr: 12, y-intercept: 3 7. m:—>, (0, 4) 18. m:=x, (0,—3)
16) y = 12x + 4\5
<@ ™ TR N NN R RN RN RN N RN R RN NN NN R R RN N AR EEEEEEEEEEEEEEEEEEEEEEEEEEEEEE >
Write an equation in point-slope form of the line having the given slope that y—5=-—2k—3)
contains the given point. Then graph the line.
m =2, (3, 11) 20. m = 4, (—4, 8) 21. m=—7 (1, 9)
19)y — 11 = 2(x — 3) 20)y —8=5(x+4) 21)y =9 =—-7(x — 1)
2_2. " = %, (—2, —5) 23. m = —%, (—3, —6) 24. m= —2.4, (14, —12)

10
Math 9G T3 Review M. G and M.S KBWS 520 Good Luck
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Recognize angle pairs that occur with parallel lines. Example--2
11 631

el Slaiiaall o 25 J1 bigl ol e el 2- Jta

Standardized Test Example 20/ E V.11 S8R ENN TR P O E S DL S Le 2  e

OPEN ENDED Find mZMRQ so that z || . all bosss s MLMRQ o> dila¥l 300n0 yui Wlise
Show your work. Lo Jadl uaS)

mLMRQ = mZRPN Alternate interior angles
bx+7=7x—21 Substitution
7=2x—21 Subtract 5x from each side.

28 =2x Add 21 to each side.

14=x Divide each side by 2.

Now, use the value of x to find ZMRQ.
CHECK Check your answer by using the value of x to find mZRPN.

mZMRQ =5x+7 Substitution mZRPN = 7x — 21
= 5(14) +7 x=14 =7(14)—21or77 v
=77 Simplify. Since m£ZMRQ = mZRPN, ZMRQ = ZRPN and 7 || 4. v

11
Math 9G T3 Review M. G and M.S KBWS 520 Good Luck
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630

“Lln ) identify Parallel Lines

Given the following information, determine which lines,
if any, are parallel. State the postulate or theorem that justifies
your answer.

a, L12/b
£1and Z6 are alternate exterior angles of lines £ and 7.

Since £1 2 £6, £ || nby the Converse of the Alternate
Exterior Angles Theorem.

b L2/}
£2and 3 are alternate interior angles of lines { and 11

Since £22 £3, £ || m by the Converse of the Alternate Interior Angles Theorem.

bl adslal) Llysh) &t gueSan e sl £11 M ols £2 = £3 o L

il L G u,h.dl ,l qJ...q.ll A4l >y u!

a. 1=/

i) Gle pldslis gl s bl Lea £0 5 £]
a0 L3l s ugSan Lo sl €11 ola L1 £6 o L
calaley)

b. £2= /3
M g € i) e glidsbag glulsls glugl) Lea £3 4 £2

Math 9G T3 Review M. G and M.S
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Find the distance between two parallel linesFind the distance between a point and a line

Example- 1-

Puiuay Akl gy dbluall :Lx_.i

638

1- Jle

ruct Distance From a Pointto a L
LANDSCAPING A landscape architect notices that one part of a yard does not drain well.

I T T R S LS I

d,.w'i,ulg,dlw,uJ,.h u.hhlpl w U' B> e it cdisy rREN (o

She wants to tap into an existing underground drain represented by line . Construct and a0 J'ﬂ o aall 9 g pwle (30 22l ul i) ik ,a, s pu (i ol

name the segment with the length that represents the shortest amount of pipe she will
need to lay to connect this drain to point A,

i bu-haa(_ 'r'“-*‘f

LE

@

The distance from a line to a point not on the line is the length of the segment
perpendicular to the line from the point. Locate points B and C on line m equidistant from
point A.
UJ.:M:HJJFMIMLJJ}LUAMHMULg_HHJmUJ][a...a.._a.au.quﬁL.u.qu
asly ddlus e cpiedlell M ogoal |ul.:.653;,.u_|n.n...|~' pil) L8 sas> dbhun)) oda e paiid!
A iz

] 1i- 3
Ser ,\_:QH
Locate a third point on line m equidistant from B and C. Label this point D. Then draw

AD so that AD L BC,
‘Cd.l:\.n.JdeJn.mﬂ\_Ma.\:'gaﬁLumul:m‘g u;ﬂauﬂu?ﬁwiulzﬂbéhﬁuﬁa:u

AD 1 BC 095 oy AD possl 6 D il i s

pliis gl 0 ilie i 1l s i) A o (olilh m gl

A o1 ot | gl oyl by 1 il

-

 F g ar

.f"g'flnwarbud

g%%%gg

S

s

/F“'

f

The measure of AD represents the shortest amount of pipe the architect will need to lay to
connect the drain to point A

Ak el o il s o s D

Math 9G T3 Review M. G and M.S
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Identify and classify triangles by side

14

Example- 3-4-5
660-661

BN (B s Lghiialy St N st

5-4-3- Jlo

1 * JReal-World Example 3 o 5t 1F 1

MUSIC Classify the sound box of the Russian lute
below as equilateral, isosceles, or scalene.

40 cm

Two sides have the same measure, 40 centimeters, so the
triangle has two congruent sides. The triangle is isosceles.

g 3L g B e

alal gyl \.i,.n.ll &l pal @g.lu.n.i I.l.um o phesigddl
£l f gl gyl of 0¥ gyl o sl
olullaze plala o b ) 05) 40 CM gay awis gulall Lyl plala
olall ol el

40 cm

Example 4 ¢

If point M is the midpoint of }L, classify &JKM
as equilateral, isosceles, or scalene. Explain your
reasoning.

i ‘}Tuiumalmu..mmulqu 138
51..5'1 galaze o liely AJKM Eligld Cocuai

By the definition of midpoint, JM = ML.

JM + ML = JL Segment Addition Postulate

0.75

ML+ ML=1.5 Substitution

2ML = 1.5 Simplify.

-

ML = 0.75 Divide each side by 2.
IM = ML or 0.75. Since KM = ML, KM = ML or 0.75.

Since K] = JM = KM = 0.75, the triangle has three sides with the same measure.

Therefore, the triangle has three congruent sides, so it is equilateral,

/ JM+ML=]L

NEOgo g 2o gﬂﬂi’h.ﬂin‘ﬁ {_,,jf..d.f _.'Lm_.li

w‘a—h—ﬂ-”é—ﬂ'w

ML+ML=15 s
ML=15 ki
ML=075 .2 ,le 5ot b)) puidl

0.75 J KM =MLy kKM = ML ) Ls .0.75 5} M = ML

Sl ans Nigly s el 3l A3 ) gy KU = IM = KM = 0.75 i L

Math 9G T3 Review M. G and M.S

KBWS 520

14
Good Luck




. 520- KHALED BIN AL WALEED SCHOOL sl O A A e

Identify and classify triangles by side measures. Example- 3-4-5
14 - 660-661
BB oleB i LiiiaTy SN Lol 5-4-3- Jlia

¢l Finding Mis

ALGEBRA Find the measures of the sides ABC publal! goluia Cial) g 3] Crlusld bt !

of isosceles triangle ABC. o1 S
¥ —
m Find x. ! \\/ ’
dx 41 bx-=05 AC=CB -
AC=CB Given C.
dx+1=5¢-05 saspal
x+1=5x—-05>5 Substitution
1=x-05 Lla L'I_{-._‘,.n‘i.': o
1=x-05 Subtract 4x from each side.
1h=% A S J105 peau
1L5=x Add 0.5 to each side. 4
e L LT - . Y
SCp4 Substitute to find the length of each side. ke B Job slw¥ avgaill 63
AC=dx +1 Given CB =AC Given D= S0
—4(L5)+1or7  x=15 =7 AC=17 o <l &
=125 Simplify.
15

Math 9G T3 Review M. G and M.S KBWS 520 Good Luck
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Apply the Triangle-Sum Theorem. Example- 1-

il a3 paamme &oplad Badal 1- Jta

669

| w1t

* JReal-World Exampleq !

SOCCER The diagtam shows the path of the ball in a passing drill created by four S wid s wlhsel da ¥ il e i o 0 st el gl by pudf 3 S
friends. Find the measure of each numbered angle. i iyl

Solve mZ3 +m{BAC + mZACB =180 Triangle Angle-Sum Theorem
mL3+20+78=180  Substitution
m£3 + 98 =180 Simplify.
ms3 =82 Subtract 98 from each side.

£ACB and £2 are congruent vertical angles. So, m£2 =78,

Use mZ2 and ZCED of ACDE to find mZ1.
ms1 +ms2+mZCED =180 Triangle Angle-Sum Theorem

m£1 + 78 + 61 =180 Substitution

mZ1+139=180 Simplify.
Check The sums of the measures of the angles of AABC and ACDE should be 180.

AABC: m43 +m/BAC+m/ZACB=82+20+78 or 180 v
ACDE: mZ14+ml2+m/CED=41+78 + 61 or180 v

msl =41 Subtract 139 from each side.

16
Math 9G T3 Review M. G and M.S KBWS 520 Good Luck
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&

Apply the Exterior Angle Theorem
16

eyt &gl Auplad audal

(3-8) 672

Find each measure.

3. m£2

115°

|

find each measure.

5. mZ4

+ DECK CHAIRS The brace of this deck chair forms a triangle with the v
rest of the chair’s frame as shown. If mZ1 = 105 and mZ3 = 48,

#
%yﬁ.lhl.l.. ol sl dalg doles JSI5 aaiyll
L3 = 48 g mL1 = 105 i Cuple 13) . palis o LS sadydl [Sa

ms4 = 105% — 48° = 57°

me2 = 115°% — 30° = 85°

4. m/MPQ

Q

msMPQ = 65° + 54° = 119°

6. mZ6

msz6 = 180° — 48° = 132°

1 mZ/2

ms2 = 180° — 105 = 75°

8. ms5

me5 = 180° — 57° = 123°

b Lot US bd s

(b S and

Math 9G T3 Review

M. G and M.S KBWS 520
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Name and use corresponding parts of congruent polygons Example- 1-2
678

17

Mgehiily Aagllaiall Olalaal § 8,5l 2 S5 2-1- Jta

=)0z Identify Corresponding Congruent Parts

Show that the polygons are congruent by P . Q Ayl 3 Blagl ,u,',l” B Wi e s lilias Gualagd! (S ﬁi ﬁ"‘;!
identifying all the congruent corresponding

parts. Then write a congruence statement. s = IP= /G, Q= .{F, :I.r_]; j"
Angles: /P=/G,ZQ = /F, LR=LE £5= 2D
LZR=/E 25=.D R

PQ=CF QR =TE, st
RS=ED,5P= DG

E:HLI&'-G u-_l-lJ-dhd-” l;"' E_,J.:'hl-‘-‘-o-" c'j—‘r?ﬂ Reng

GFED glall = PORS sl il

Sides: PQ = GF, OR = [E,
RS=ED,SP=DG

All corresponding parts of the two
polygons are congruent. Therefore,
polygon POQRS = polygon GFED.

In the diagram, AABC = ADFE. Find

Y 8 X ded s AABC = ADFE . Jadasill gu JI A
the values of x and . =

FE=BC  CRCTC ol
LF= /B CPCTC =
FE=BC Definition of congruence  @:llazl) ciy 3
mLF=mZB Definition of congruence
o 2y+x=2384 Substitution L gt
8y—5=199 Substituti sl
Y e (B -5 213) +x =384  Substitution R
8y =104 Add 5 to each side. A 2% + ¥ = 38.4 Simplify ’
= 38. ify. daly
y=1lo Svios aach sty s, D E x="12.4 Subtract 26 from each side. &b S 3 28 ¢ b
18
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Use the 555 postulate to test for triangle congruence.

Example- 1-2
686-687

13

. el o5 HLESY N EEN (Sald Aelns plasiid

2-1- Jka

Write a flow proof.

Given: GH=KJ, HL= JL, andL is
the midpoint of GK.

Prove: AGHL = AKJL G
Flow Proof:
GH=KI  HL=IL L is the midpoint of GK.
Given Given Given l
GL =KL
Midpoint Theorem
AGHL= AKIL
SSS

GH=KI  HL=JL |.GK 3§ —axull il sl

Cilddaal | lalnal | i ldmal | J
\ 1 GL=KI
cheaii]) dlamn & das
AGHL = AKIL

BU) Aa¥l golas auloa

Math 9G T3 Review

M. G and M.S
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Standardized Test Example 2"
EXTENDED RESPONSE Triangle ABC has vertices A(1, 1), B(0, 3), and C(2,5). |

Triangle EFG has vertices E(1, ~1), F(2, =5), and G(4, —4).

a. Graph both triangles on the same coordinate plane.

b. Use your graph to make a conjecture as to whether the triangles are congruent

Explain your reasoning,

b. From the graph, it appears that the triangles

do not have the same shape, so we can
conjecture that they are not congruent.

(L, ~1) augdy EFG &Lty .C(2,5) 4 B(O, 3) y Al 1) dug, ABC Sl daupe il
G4, -4) 4 F2 -5)y

L)

A1y i ogiue e Gulidl AUS gyl @

8 g g e GUELT OIS 13] o s e L2401 pasiad b

-

by 15 s JS L i lad! Jed) o g0 D
ndlane L Lol (pueied

s Aalzd) eMal) S uld gelus pie glod 8Ll el auszl) €

!-th

c. Use the Distance Formula to show that not all corresponding sides have the (o
sarme measure. 1 \@q@@
AB=1/(0—1)2 + (3 — 1)2 EE= /@ —1F+ [-6— (-2 cm%%%‘“\\%
ST /T ©
=1 + 4 or /5 =V1+16or V17 %\v}}&(& %,W‘gg
%
BC=1/(2— 02+ (5 — 3)2 FG=1\(@ =22+ [-4— (-5)]? et ’;%c,«, @&‘*‘6 e
%
=V4+4o0rVs +1orV5 &‘ i \{»\'y
N
¥
AC=+1(2—-1)24+ (5—1)2 EG=1/(4 —1)2+ [-4 — (—1)]2 RS
=1+ 16 or v17 9+ 9 orvVi18
‘ 20
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Use the SAS postulate to test for triangle congruence
(16-20) 692
(il 33 SASY Lagin Sizamall dsghll 3 (el dalics slikid

19

ARGUMENTS Determine which postulate can be used to prove that the triangles -oliitaZe fplisd) of QLY Yalasin! ySg I 16-'-“-“ e il
are congruent. If it is not possible to prove congruence, write not poswb!e oS ¥ oS0 (el QL) Elee 0% o 13l

=N R R

M

O

-

20. MUSIC To make a specific tempo, the weight on the pendulum of a  ela¥! Jsax ole isl) dara o aitas 5,55 wao) Shewsel! .20

metronome is adjusted so that it swings at a specific rate. Prove that sl R At iRl HZAT;R;LL{;LT:
the triangles formed by the swinging of the pendulum are congruent; C B A “

i.e. prove AABR = ACBR.

SAS

21
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Use the ASA postulate to test for triangle congruence Example- 1-
20 698
(rikie G5 ASY et yymne pling (295 dalns plaid 1 Jte

111212 Use ASA 1o Prove Triangles Congruent

el

P
Write a two-column proof. RIeE (34 f,uJ, |
Given: QS bisects ZPQR; S o LPOR vaw QS 1 daagd

il |

/PSQ = /RSQ. LPSQ = LRSQ
Prove: APQS = ARQS APQS = ARQS s gllagd |
R
Proof: : (gl yd |
= yLaad)
Statements ' Reasons gl 1
—= — aildaall .
1. QS bisects ZPQR; ZPSQ = ZRSQ. 1. Given TJPE'O = LRSQ £LPOR an, QS 1 "
e Gl iy s 2
2. /PQS= /RQS 2. Definition of Angle Bisector | £PQS = LRQS .2 Ll
: 0S=0S .3 bl 3 Sl dals 3
3. 0S=0S 3. Reflexive Property of Congru y : ;
I APQS = ARQS .4  (ASA) Ly jpad) il g ks 4
4. APQS= ARGS 4. ASA !
|
v
~
22
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21 Use properties of isosceles triangles

Example- 2-3
709

CBL Lagluds iilzall polas alissd

3-2- Jta

Example 2 ;1

Find each measure.

a. m2LY i
mLX + msY + mLZ = 180
60 + msZY + mLY =180

60 + 2(m2Y) = 180

Triangle Sum Theorem
mLX=60,mLZ=msLY

Simplify.

—
Y ok Lo S ld o
msY .a

bh. YZ

mZZ=mZY, so mLZ = 60 by substitution. Since mZX = 60, ll three angles
measure 60, so the triangle is equiangular. Because an equiangular triangle is also

2(mLY) =120  Subtract 60 from each side. equilateral, XY = XZ = ZY. Since XY = 8 centimeters, YZ = § centimeters by substitution,
msY = 60 Divide each side by 2.
|3.¢1u)=5=) Find Missing Values 3em
ALGEBRA Find the value of each variable. A y—5)cr
Since ZB = £A, AC = BC by the Converse of - . .
the Isosceles Triangle Theorem. All of the sides - mlrlmT 1= L
of the triangle are congruent, so the triangle is C 3=4y-5 Substitution
equilateral. Each angle of an equilateral triangle 8 = 4y Add 5 to each side.
measures 60°, so 2x = 60 and x = 30. 2=y Divide each side by 4.
23
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Use properties of equilateral triangles .
22

(14-21)

712

LEMBY Akl iiliall el ad Aladed

(14-21)

Find each measure. 5, HC E
14, AB A A
13
! B=7
50° 50° H G
b ¥ HG=13

16. mALNMP

o Lo US obd b

7. mZRST R

ALGEBRA Find the value of each variable.
X=1y=3

gt e X=4,y=7 /s
18. Y= 19. y e

P4 N o
(dx + 1)° (3y — 4)

3x— 8

16

21.

2x+ 5

Math 9G T3 Review M. G and M.S

KBWS 520
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Identify reflections, tr lations, and i Example- 1-2
719

23
LOlyailly uSaiiig AV dsod 2-1 Jle

Example13[:!

Identify the type of congruence transformation shown as a reflection, translation,

or rotation.
a. T b. ty -. c /J y
' »*
e
= -"'} J:’} i J Y ~
[~ Jof-F » o) < x
ok | “h. _,i'"' ' | L )
‘,r--..____ﬁ X = | S
/ ! e L&
rotation. rreflection, franslation, A
* Real-World Example2 | = “ —
GAMES Refer to the mformatmn at the left. Identify the Eanbil"- g 31 il “" Lyt Claglagl PL’ “m“
type of congruence transformation shown in the diagram o kiely padasell] F‘"JJ‘ u‘ ,.M.h.l‘f Gl g
as a reflection, translation, or rotation. h{,,: | i) of Lolsail
The position of the weight at different times is an example . 30 alaal) le By dalisy clay] ot 039l pase Sy
of a rotation. The center of rotation is the person’s ankle. ot atior. el =15 o8 olyeall
25
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- Use coordinate geometry to write proofs- Position and label triangles for use in coordinate proofs Example-1-2 S
A1 01§ pliidl ilass] £,US § OB gigs i 2-1- Jua
| ﬁ’PBsiﬁﬁh and lﬂhﬁ]’ a*"’ﬁ‘iﬂi‘lﬁiﬁ Y Mo, a - g clio 230 v SEN i]j .LJ
Position and label right triangle MNP on the coordinate w!*-"‘d'*u“- *-l-ﬂfl's MNP "-'.:U' P“ gl &-‘!-: -‘*“'"
plane so that leg MN is a units long and leg NP is Glixgll 38 ) Mi i“:l 'J*’; uﬁ%‘f‘" Iﬁl' ::‘:
b units long, P (b, 0) : e 4
O| N(0,0) x
P The length(s) of the side(s) that are along the axes will be el salonall s5lsalt (g3 ¥1) gt (Jlglal) Jodo (jpSms @
easier to determine than the length(s) of side(s) that are fslas o i (33D aladl (Jlghal) Jsls oo spasil] 8

not along an axis. Since this is a right triangle, two sides Gralis gpe 41008 G i)l B0 s i ol Lo g

: e (e

can be located on an axis. ;
aolSs) Jua¥! dlam sie AN Al dslal) Ggly)) pung puiew ®
» Placing the right angle of the triangle, ZN, at the origin Y el g X 88 (g jaond) 3liloas bl ping
will allow the two legs to be along the x- and y-axes. Jo¥) w )l Lb i) s @
» Position the triangle in the first quadrant. s Y asls 0 sa L) X Slasly Y seouall e M il @

wilamg 8 glal Jobo oY
® Since M is on the y-axis, its x-coordinate is 0. Its y-coordinate is # because the legis ¥ b 4a x 2las)s 0 sa ¥ ilasls X jemddl e P ol L @
a units long. ilaogilr abad] Jads

® Since P is on the x-axis, its y-coordinate is 0. Its x-coordinate is b because the leg is
b units long.

26
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Sl Identify Missing Coordinates

Name the missing coordinates of isosceles triangle XYZ,

Vertex X is positioned at the origin; its coordinates are (0, 0).

sned) aldlio ) dadas 7 )

XYZ pdlad) gglucio Eliel) U pgongd! bl (s

bilas) 0 g8y flas] 15] X sl L Z )
(8, 0) o Z L

AXYZis 1s:osceles, so using a vertical segment fromY ~ y/ Y o0 o 2 i 1§ il e AXYZ
to the x-axis and the Hypotenuse-Leg Theorem shows Yo ‘ ' ~
that the x-coordinate of Y is halfway between 0 and a ' Y JX ] ol e gladl= gl & sy X ol
or <. We cannot write the j-coordinate in terms of g, Y ilas] &S LSy ¥ i o 0y 0 o Bl Gz =
alit b, The coordinates of point Y are (%, b ART 2 o
so call it b. The coordinates of poin are(z, ) d Z(a ) (Ej h]g‘“ Y il alilas] bl 8.0
01 X(2,7) X
Vertex Z is on the x-axis, so its y-coordinate is 0. The : :
coordinates of vertex Z are (a, 0). {0, 0) o Gldlisly s Lad) daz wie X ol ) pay
27
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Find perimeters and areas of triangles. Example- 4-3
25 737-738

L i)t Ao lss Jaamea Sl 3-4- JUs
T e et
H"‘f\‘r"’l fl ,;-a';',tf.'_' = ko b
l-‘ U:r L _sillEa .'-'-'|-I'. Al

9 Ma‘;LaJ!muliu!gLnHI l.u.m"
m 3 4 =4

. \ TR PEL P | qlap-md._dli Sy it gl| L i
triangular garden shown and enough paving stones to border 0 v S8 12 i 0 oVl i o ke 3 W

it. [Fm;e bag of mr.llch covers 1% square meters and one ey 4 i ol sae < s ga 10 s ot
paving stone provides a 10-centimer border, how many bags - mﬁ? afl 5t oy 2 eal sy

of mulch and how many stones does he need to buy?
m Find the perimeter of the garden. FEIIEN] -1=-.-=-n A
234+ 154+7=45m inasd dassw

Perimeter of garden = 23 + 15 + 7 or45 m
IEG¥] Find the area of the garden. e

GARDENING Amer needs enough mulch to cover the

A= %n‘ﬂf Area of a triangle A= %hh e a2l
=2(7)9) or315m2  b=7Tandh=2 =lNO)=315m2  b=7,h=9
Use u_nit analysis to determine how many of each item are needed. L |.Mri ;L Ui
Bags of Mulch Paving Stones UIT'J ik J v
1 bag 00 1 stone gt stone :
2 = 100¢gm ; .
35 55 =2625bags 45w T e Sron = 450 stones 45m. TRETY = | 400 315}112 o 2 = kSHl e 2625

Round the number of bags up so there is enough mulch. He will need 3 bags of mulch
and 135 paving stones.

00 bS] 3 ) ping g il 0 IS S i 0 o e Y e 0

4.llllllllllllllll..-lllllllllllllllll.llllllll’

28
Math 9G T3 Review M. G and M.S KBWS 520 Good Luck




. 520- KHALED BIN AL WALEED SCHOOL - Aol o AR da e -

..'_ 3 . 7 .. P .-.. - a i
e e a I" e e
- B =L A LA, LR '-.'.:"' I LSt

ALGEBRA The height of a triangle is 5 centimeters more than its base. The area of
the triangle is 52 square centimeters. Find the base and height.

52 em? Gliyll dorluay .5 cm Jlady dusld (e dj Gulls LG, ol
L Y1y B L) e

ks JS gt s sl [N
m Write expressions to represent each measure. b+ 5 goblus glus,¥1 13 .l 5aeld J15 b ol o200

Let b represent the base of the triangle. Then
the height is b + 5.

m Use the formula for the area of a triangle to find b.

= g
A = bk

B slaud L)) as s v f.u-..;_..,r

52 — %b{b 3+ %)

104 = B(b + 5)
104 = b2 + 5b
0= b2 + 56 — 104

b+ 5cm

0 = (b + 13} — 8) =
b4+ 13 =0 P e ATAT If.rr::rn
b= —13 =8

m Use the expressions from Step 1 to find each measure. LRI SPRRURUNOON] ..

Since alength cannot be negativ, the base measures 8 centimeters and the Reight 13 cm , 8 + 5 ca,31 by B e sl ki 1 Ll osSs o e ¥ ol o Lo
meastires 8 + 5 or 13 centimeters,

29
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